@ Montageanleitung fiir Bausatz Dichtung Bodenplatte fiir HG(HA)5-6 und HG7
@ Assembly instructions for kit seal base plate for HG(HA)5-6 and HG7
o Instructions de montage pour kit joint plaque de fond pour HG(HA)5-6 et HG7

1. 0l ablassen

2.  Schrauben losen Bodenplatte
20 Schrauben M10 x 30

3. Demontage Bodenplatte
Bodenplatte und Dichtung abnehmen

4.  Bausatz Dichtung Bodenplatte

Zu heachten:

Dem Bausatz Dichtungen liegen zwei unter-
schiedliche Dichtungen bei. Version (1) Stahldich-
tung und Version (2) Weichstoffdichtung. Es muss
die selbe Dichtungsversion verwendet werden,
welche auch ausgebaut wurde.

Die Verwendung einer Stahldichtung beim vorhe-
rigen Ausbau einer Weichstoffdichtung ist nicht
zulssig und kann zu Undichtheiten fiihren.

Verdichtergehduse
Compressor housing
Carter du compresseur

Yy
N

Bodenplatte
Base plate
Plaque de fond

Dichtung Bodenplatte

D

1. Drain the oil

2.  Release screws, base plate
20 screws M10 x 30

3.  Dismounting base plate
Remove base plate and seal

4. Kit seal base plate

Note:

The seal kit includes two different seals.
Version (1) steel seal and version (2) soft seal.
The same seal version as the one removed must
be used.

The use of a steel seal when a soft seal has been
removed is not permissible and can result in
leaks.

ENGINEERING
TOMORROW

Dacifo

1. Vidanger I‘huile

2.  Desserrer les vis de la plaque de fond
20 vis M10 x 30

3. Démontage de la plaque de fond
Retirer la plague de fond et le joint

4.  Kit de montage joint de plaque de fond

A respecter :

Le kit de montage Joints contient deux joints
différents. La version (1) est un joint en acier et
la version (2) un joint en matiére molle. Utiliser la
méme version de joint que celle du joint démonté.
L‘utilisation d‘un joint en acier aprés démontage
d‘un joint en matiére molle est interdite et peut
provoquer des défauts d‘étanchéité.

®

Version Stahldichtung (Farbe schwarz) @) @)
Seal base plate e

Version steel seal (black)

Joint-plaque de fond

Version joint en acier (noir) O

Einbaulage der Stahldichtung
Installation position of the steel seal

Position de montage du joint en acier

Dichtung Bodenplatte (mit Ol benetzen)
Version Weichstoff (Farbe griin)

Seal base plate (moist with oil)
Version soft material (green)

Joint-plaque de fond (mouillé avec de I‘huile)
Version en matiéres souples (vert)

Beispiel HG7
Example HG7
Exemple HG7

© Danfoss | Climate Solutions | 2023.06

AN45073915161201-000201 | 1



o Montageanleitung fiir Bausatz Dichtung Bodenplatte fiir HG(HA)5-6 und HG7 ENGINEERING
@ Assembly instructions for kit seal base plate for HG(HA)5-6 and HG7 TOMORROW
@D Instructions de montage pour kit joint plaque de fond pour HG(HA)5-6 et HG7

[ D J D L F

5.  Montage Bodenplatte 5.  Mounting base plate 5.  Montage de la plaque de fond
20 Schrauben M10 x 30 (Pos. 1 - 20) 20 screws M10 x 30 (Pos. 1 - 20) 20 vis M10 x 30 (Pos. 1 - 20)
Wichtig! Reihenfolge einhalten, siehe Important! Observe sequence as listed Important ! Respecter I‘ordre, voir la
Nummerierung. in numbering. numeérotation.
M10 x 30: 75 Nm M10 x 30: 75 Nm M10 x 30: 75 Nm

20 11
3 7
19 12
18 13
6 4
17 16 2 15 14
6.  Montage Olablassschraube und 01 6.  Mounting oil drain screw and fill in oil 6. Assemblage du bouchon de vidange et
einfiillen remplissage d’huile
Do the commissioning according to the
Fiihren Sie die Inbetriebnahme geméan assembly instructions of the compressor Effectuez la mise en service selon
der Montageanleitung des Verdichters Pinstruction de montage des compres-
durch seurs

Danfoss A/S
Climate Solutions « danfoss.com « +45 7488 2222

Any information, including, but not limited to information on selection of product, its application or use, product design, weight, dimensions, capacity or any other technical data in product manuals,
catalogues descriptions, advertisements, etc. and whether made available in writing, orally, electronically, online or via download, shall be considered informative, and is only binding if and to the
extent, explicit reference is made in a quotation or order confirmation. Danfoss cannot accept any responsibility for possible errors in catalogues, brochures, videos and other material.

Danfoss reserves the right to alter its products without notice. This also applies to products ordered but not delivered provided that such alterations can be made without changes to form, fit or
function of the product.

All trademarks in this material are property of Danfoss A/S or Danfoss group companies. Danfoss and the Danfoss logo are trademarks of Danfoss A/S. All rights reserved.

2| AN45073915161201-000201 © Danfoss | Climate Solutions | 2023.06



